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125 | 50 |11 27 33| 8 49 11 ]34,966
150 | 50 | 9 32 67 [ B 16 -89 | . 977
200 | 50 T 09 432 23 14 987
250 | 50 5 43 46 (1 54 35 - 992
300 + 50 4 46 2911 36 30 994
400 50 $ 34 5211 11 37 997
500 50 2 51 536 57 18 998
600 50 2 23 14| 0 4T 45 999
700 50 2 02 4700 40 56 999
750 50 {1 54 35|60 38 12 999
800 50 1 47 26| 0 35 49 999
900 50 1 35 30{0 31 50 999
1000 50 1 25 570 28 39 999
1250 50 1 08 45| 0 22 55 999
1500 | 50 0 57 1810 19 06125000
R P 1 Xa | Y G, [ Te¢
m | m .. m m m ‘m

125 | 0.842 | 49,800 | 3.333 49,911 | 33.356
150 | 699 861! 2,778 938 349
200 | 523 922 083 965 342
250 | 418 950 | 1,867 978 339
300 { 348 965 389 985 337
400 | 261 980 042 991 336
500 | 208 988 | 0.833 594 335
600 | 174 991 694 996 334
700 | 149 994 595 997 334
750 | 139 994 556 998 334
800 | 130 995 521 998 334
900 | 116 996 163 998 334
1000 104 997 117 999 334
1250 083 998 333 999 334
1500 | 069 909 | 278 999 333
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Tu=T+t=105,55+25,12=130.67
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L/=L-1,=202,98-50=152,98
~10~



ID
- T
t1y
“L/2
+ L’/g
+ 1.

TERE

ID
+ T
-7

2 +483.67
130,67

2 4 353,00 w0

50

2+ 403,000 o0 eeuns

76.49

D 4 479 4G reeeereeens

N /776.497_
"9 + 555,08

50

2 + 483.67

2 +614.34
8.36

2 A BO5 QB eeeeee s

‘ZH

HY

Qz

....YH

...Hz

HZ



RN BB K &

R=125 . 1, =50
a t e i | e t | e 3
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31 | 25.20 Io.ss [ 0,40
32 21| 87| 42
33 | 21} 87 42
| 34 | 22 87| 44
\ 35 | 23| 87| 46
; 36 25,24 | 0,88 10,48
; 37 25| 881 50
J 38 25' 881 50
- 39 26' 88| 52
1 10 27, 89, 514
i N
i 41 | 25.28 !0.89 1 0.56
. 42 29 89 58
‘ 43 29 l 90 58
! 44 30! 90 60
| 45 31 90 ; 62
|
j 46 | 25,32 { 0,91 0,64
‘ 47 331 91| 66
| 48 | 34| 91| 68
! 49 351 92| 70
! 50 6| 92| 72
51 | 25,36 ;0,92 0,72
22 25,13 10,85 0,26 52 37, 93! 74
23 14 85| 28] 53 38{ 93 76
24 4| 85| 28| 54 39 | 94| 78
25 15| 85| 30| 55 40| 94 80
26  25.16 10,86 |0,32) 56 | 25.41 {0,940,82
27 17| 86| 34| 57 2( 95 84
28 | 17| 86| 34| 58 43f 95| 86
29 1| 86| 36| 59 44| 96| 88
30 18! 88! 381 60 451 96 990
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0 m | m | m 0 m m | m
61 25.46 | 0,97 | 0,92 91| 25.81}1,1911,62
62 47 97 94 92 83 20 66
63 48 98 96 93 84 21 68
64 49 98 98 94 86 221 72
65 50 99 | 1.00 25 88 23 76
66 25,511 0,99 1.02 96| 26.8911.,2511,78
67 52 | 1,00 04 97 91 26 82
68 53 01 06 98 93 27 86
69 54 01 08 99 94 28 88
70 55 02 101 100 96 30 92
71 25,56 | 1,02 11,12 101 | 25,98 | 1,31 }1,96
72 57 03 14| 102 | 26,00 32 1| 2,00
73 58 04 16 103 01 34 02
74 5 04 18 104 03 35 06
7 61 05 f 221 105 05 37 10
76 25,62 | 1,06 | 1,24 ic6 | 26,07 |1,3812,14
77 63 06 26 1 107 09 40 18
73 64 07 28 108 11 42 22
79 65 08 30 109 13 44 26
80 67 09 34 110 16 45 32
81 25,68 {1,10 : 1,36 | 111 | 26,18 | 1,47} 2,36
82 69 10 38 112 20 49 40
83 70 11 40 | 113 23 51 46
84 72 12 44 | 114 25 53 50
85 73 13 46 | 115 27 55 54
86 25,74 11,14 11,48} 116 | 26,30 | 1,57 | 2.60
87 76 15 52 | 117 33 59 66
88 77 18 54 118 35 62 70
89 79 17 58 119 38 64 76
80 80 18 604 120 41 67 82




